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Topic 1: The domain problem

In contemporary theories agreement is defined in terms of syntactic domains. Archi adverbs, pronouns and particles therefore present challenges, because they lack a clear syntactic link to a controller. This involves two levels of complexity: adverbs and particles have been accounted for as having syntactic and semantic scope over the whole clause, whereas there are other problems, such as the one with dative pronouns (9)-(10), which have never been addressed by syntactic theories.

The agreement domains in Archi are the noun phrase (DP) and the verb complex (vP). An overarching principle to keep in mind is that at least in the vP, every v head agrees with the Agree Probe-Goal features. However, only some elements display that agreement morphologically. The following notes will discuss the two domains separately.
Archi DPs
Adjectives and verbs as agreement targets do not necessarily present a difficult problem for the theory. The first thing we need is an account of how the theories cope with ergative-absolutive alignment noting the point that, outside of the noun phrase, it is the absolutive which controls agreement. 

Adjectives

(1)
bala-t:u-t
ac:'i


be.difficult-atr-iv.sg

disease(iv)[sg.abs]

‘bad disease’

Note that regarding the case, the adjective stays in this form irrespective of the case of the noun. Adjectives do not inflect for case. 

We are making a couple of assumptions here concerning the overall nature of the noun phrase in Archi; first, that there is a null determiner (on the idea that all languages have DPs, but in some languages the D head is null), and second, concerning the position of this determiner in the structure (since Archi is generally head-final, Dº appears in the final position). Nothing in particular hinges on these two assumptions, but this means that the structures we introduce below are in accord with standard analyses and are therefore more comparable to DPs in other languages.
Moving on to agreement, it is unclear from example (1) above if we are dealing with a simple adjective or a participle. Depending on the category, the analysis is different.

Simple adjectives within a DP lack argument structure, therefore they do not project a clausal structure. Such simple adjectives are generated within the functional projections of NP, as in (i). 

(i) [DP [D’ [FP [AP [difficult]] [NP [disease]]] D]]
Thus, a simple attributive adjective is in the specifier of a functional projection of NP and does not project arguments. The agreement is established by feature-checking between the features of the noun and features of the adjective. 

If the form in (1) is a participle, then the structure is more complex. It includes the participial relative clause (CP below) and the head noun ‘disease’ which shares the index with the trace in the CP. In other words, the structure is more like ‘the disease (that is) difficult’ (lit.: ‘difficult-being disease’).
 
(ii) [DP [D’ [NP [CP Opi 

[C’ ti [TP ti [VP be_difficult ti] [NP diseasei]] D]]

 



|_Agree__|

On this analysis, the agreement is not with the head noun ‘disease’ per se but with its trace inside the relative clause which is co-indexed with the head noun. The stative verb ‘be difficult’ agrees with its absolutive argument following standard agreement in noun class. 

To decide between the analyses, one would need to investigate the contrast between adjectives and relative clauses in Archi. In more familiar languages, we often see that a relative clause can combine with a demonstrative, while an adjective cannot, cf. in English:

(iii)  those [that cause difficulty]

(iv) 
those [leaving after 9pm]

(v) 
those [abandoned]

(vi) 
*those forlorn

(vii) *those difficult

Pronouns

First person Singular pronoun in the genitive

(6)
a. 
w-is                      ušdu




i.sg-1sg.gen    brother(i)[abs.sg]




 

‘my brother’

b.
[DP [NP [CP Opi 
[TP ti 
[vP 1sg [VP be ti] [NP brotheri]] Dº]

 





|_Agree__| 




‘the brother [that is to me]’ (lit.: “to-me-being brother”)
(7)
d-is
došdur


ii.sg-1sg.gen
sister(ii)[abs.sg]


‘my sister’

Note that regarding the case, the pronoun stays in this form (the genitive) irrespective of the case of the noun, compare: 
(8)
w-is

uš-mi-n

oq-li-t

zon
qebu-li



i.sg-1sg.gen
brother(i)-obl.sg-gen
wedding(iv)-obl.sg-sup
1sg.abs
dance.pfv-cvb

e‹r›di.

‹ii.sg›be.past


‘I (female) was dancing at my brother’s wedding.’

It is hard to tell what the structure of the genitives is without having more data. At this juncture, there are two possibilities: a standard possessive DP inside a DP or a relative clause modifying the head noun.
The first option is that the possessive pronouns are DPs inside a more complex DP. Thus, your (6) has the structure as in (viii):

(6) 
w-is                      ušdu


i.sg-1sg.gen    brother(i)[abs.sg]


‘my brother’

(viii) 


DP
  3




DP/PP 

 D’



(=possessor)
3




NP


D

  



  !

 



‘brother’

The relationship between the D and the NP ‘brother’ is established via Agree with the Gender/Number probe (GP below). The probe does not “see” the possessor because it is probably a PP or because it bears an inherent case (as opposed to structural case). The probe therefore skips it and goes directly to the NP below. Thus:

(viii) 


 


GP



3
    CL1{ }

DP
  3




DP/PP 

 
D’



(=possessor)
3




NP


D

  



  !

 



‘brother’CL1

The second analytical option follows the well-known proposal, originally made by Kayne (1994). The idea is that adjectives, relative clauses and possessives all have a uniform analysis, one couched in terms of relative clauses. Recall the structure of noun phrases modified by relative clauses from (ii) above (irrelevant details omitted):

(ix) [DP [NP [CP …..] [NP ….]]]]

On this analysis, ‘my brother’ is essentially formed by the head noun ‘brother’ modified by the relative clause ‘(being-)to-me’ or ‘(being-)of-me’, with the abstract verb BE. In other words, the agreement on the genitive (exx. (6)-(8)) is agreement within a reduced relative clause where the abstract verb ‘be’ is silent and forms a predicate phrase with the genitive: 

(x) [DP [NP [CP Opi 

[C’ ti [TP ti [PredP “to-me-BE” ti] [NP brother]]]]




|_Agree__| |___| |________________|

Just as we saw in the analysis of relative clauses, the agreement in gender obtains between the operator and the trace via Agree. This analysis has two advantages: it accounts for the ordering of agreement marker with respect to the possessive form, and it makes possessives maximally similar to other modified forms. 

Either of the two analyses proposed here explain why the inflected genitive does not change when the head noun changes its case: the case is assigned to the entire DP, and the inflected genitive is inside that DP. 

The same approach, namely, positing a reduced relative clause, can account for your data in (13):

[image: image1.emf]Postpositions

(13) to-w-mi {:"ak-du-t duyriqfa-k edq'en
that.one-1.SG-SG.ERG  near-ATR-IV.SG  village(IV).SG.INTER-LAT  «II1.SG>up.to
deq"” absu
road(TIN)[SG.ABS] {I1.SG>make.PFV

‘He made (built) the road to the next village.’ (based on Kibrik et al. 1977a: 227 with thanks to Bulbul)










Here, the expression ɬːʷak-du-t duχriqˤa-k e‹b›q'en seems to be a reduced relative clause modifying ‘road’, thus:

(xi) [DP [NP [CP Opi 
 [TP ti [PredP nearby-village up-to-“BE” ti] [NP road]]]]




|_Agree__|


lit.: ‘nearby village to-being road’
Agreement is fully accounted for. If we could obtain more empirical data, we could eliminate some of the options listed above.

Archi clauses

Below we will discuss the agreement inside the vP (verb phrase or predicate phrase), but in order to do so we need to understand Archi clause structure better. In a number of instances below, you will see that there are several analytical possibilities—without additional data, it would be hard to distinguish between them.
1. Clause structure

1.1. Transitive

The structure for the transitive clause is probably as follows (strikethrough indicates feature checking):

(xii) 





TP





3




DPi



T'



I



3






vP



T






3

[EPP]





DPi


v'


[Case: erg]
3


I


VP



vtrans




3




DPm


V
 


[Case: abs]
  tie
 


horse
‘I tied the horse.’

The ergative DP is merged in spec,v, where the ergative case is also checked; the transitive v serves an external theta-role assigner (Woolford 2006, Aldridge 2008, Legate 2008). This DP then moves to the specifier of T, satisfying the EPP. 

For the absolutive case, we can assume, following Aldridge (2004, 2008) and Legate (2008), that its checking depends on transitivity. In a transitive clause such as the one above, the object remains in its base position inside the VP and checks its case with v. 

1.2 Intransitive

In an intransitive clause the absolutive DP would have its case checked by T.

(xiii)  





TP





3




DPi


T'


horse

3
[Case: abs]  vP


T





3

[EPP]








v'





3




VP



vintrans



3



DPi


V
    
horse


jumped
‘The horse jumped.’

Depending on the type of the intransitive verb it may or may not project the little vP. Unaccusatives probably do not have one. It would be helpful to find out if Archi verbs are divisible into unergative and unaccusative classes. In Tsez, the two diagnostics we have found are reduplication (unaccusative verbs reduplicate, unergatives do not) and closest conjunct agreement (preferred with unaccusatives).

In what follows, we will not mark feature checking for case or EPP and will only consider agreement.

1.3 Dative subject clauses
The term ‘subject’ is used in relation to the dative experiencer argument quite agnostically here; we do not know if it is truly a subject, but for now we need to distinguish it from the more object-looking dative recipients and beneficiaries like in example (9).

There are two possibilities with respect to the dative subject or any other subject not marked with the ergative case. In the first option, the dative (or some locative case) could be assigned in the same position as the ergative and the difference would be specified lexically, by the choice of a different v head (in the structure below, I call it “affective”):

(xiv) 





TP





3




DPi


T'



I

3




vP



T





3

[EPP]




DPi



v'


[Case: dat]
3


I



VP


vaffective





3




DPm



V
 


[Case: abs]
    
see
 


horse

Under the second option, the dative is generated in a different position, either higher in the structure (for instance, as a topic coindexed with a null pronominal in the lower position), (xiv), or lower than the ergative, in a dedicated v head (xv):
(xv) 





TP





3




DPi


T'



I


3





vP



T





3





proi


v'
 



3



VP



vaffective


3


DPm


V
 horse


see

(xvi) 





TP





3








T'






3






vP


T






3











v'






3





vP



vtrans



3




DPi

v'




3
 


VP



vaffective


3


DPm


V
 
horse


see


In order to decide between these two options, we need more data. In particular, it would be helpful to see answers to the following questions:

(xvii) How does reflexivization work? Does the dative bind the absolutive argument the same way as the ergative does?

(xviii) How does scope work? Does the dative have the same scope effects as the ergative?
 

‘A girl met every boy’ = (a) for every boy there was a girl that met him (different girls)
 







(b) one girl and one girl only met every boy (same girl)

‘A girl saw every boy’ = 
(a) for every boy there was a girl that saw him (different girls)
 






(b) one girl and one girl only saw every boy (same girl)

There are further tests but let's start with these.
 











 

1.4 Indirect arguments

In addition to the ergative and absolutive arguments, Archi seems to allow indirect arguments such as dative objects. These are generated by additional v heads inside the verb phrase:

(xix)  





TP





3




DPi


T'

mother


3





vP



T
 



3







DPi


v'
mother
ERG

3




vP

 

vtrans
 


3
 

DPk 



v'
 

daughterDAT3
 




VP



v
 



3




DPm


V
 


dressABS

make


A verb form can host several indirect arguments as long as each is properly licensed by an additional v head. It would be interesting to see what arguments and how many are allowed in the vP. The v heads licensing additional objects inside the vP are silent (null) by assumption, however, it is possible that some of them will have overt morphological exponence, for instance, causatives. 

2. Agreement

The agreement is in gender class with the absolutive argument. In structural terms this means that there is an Agree relation established by the probe (T and v heads which have the feature “gender”) and the goal (absolutive DP). 

The T and v heads do not agree with the ergative. The reason there is no agreement with the ergative (or dative for that matter) is as follows: these DPs are assigned lexical or inherent case, not structural case. Recall that the case on these DPs is assigned by the local head, not by T. The inherent case status renders the ergative/dative invisible to verbal agreement, hence there is no Agree relation between the subject and T.
The probes (T and v’s) look for a goal with the relevant feature ‘gender’ that they need in order to check that feature. Once the goal is found, the probe enters the Agree relation with it; the agreement is a morphological reflex of Agree.  Agree applies to all the heads in the derivation, cyclically. Since the dative and the ergative DPs are merged in specifiers of little v heads inside the vP, these v heads register agreement with the absolutive. This accounts for the data in (9)-(11), repeated over the page. In (9), the verb ‘make’ and the little v whose specifier includes the dative (‘me’) show overt agreement with the absolutive DP. In (10), the verb ‘forget’ and the little v whose specifier includes the dative (‘me’) agree with the absolutive ‘guests’. By the logic presented here, we should also expect the little v in which the ergative is merged to show absolutive agreement as well. This prediction is confirmed by (11). The reasons why we do not see agreement in other ergatives must have something to do with morphophonology, not syntax.

[image: image2.emf]First person singular pronoun in the dative

(9) to-r-mi b-ez x oSon abu
that.one-11.SG-ERG IIL.SG-1SG.DAT  dress(III)[SG.ABS] {IL.SG>make.PFV
‘She made me a dress.’

(10) b-is x:fele b-ez dit:ab>u ebsyni
I/IL.PL-1SG.GEN guest(I)[PL.ABS]  I/ILPL-1SG.DAT soon<I/I.PLy forget<I/ILPLYPFV
‘T quickly forgot my guests.’

First person plural inclusive pronoun in the ergative
(11) nenab>u hanZugur fummar b-aw¢a-r?
{ILSG>1PL.INCL.ERG how life(11)[ABS.SG]  1IL.SG-APFV»carry.out-IPFV
¢...how (should) we spend our life?’ (Kibrik, T3:4)2










Agreement with what you call adverbs and postpositions suggests that these are secondary predicates located inside the vP or VP. As they are internal to the agreement domain they also show agreement. That accounts for the “adverbial” agreement on ‘soon’ in (10) and for the agreement facts in (12):

[image: image3.png]Adverbs

(12) odsq'a-tru-b balah dit:ad»u b-eryin
(IL.SGyleave.PFV-ATR-IIL.SG  trouble(I)[SG.ABS]  S00N«I11.SG> 111.SG-forget. IPFV
‘Past trouble gets forgotten quickly.” (Kibrik et al. 1977a: 186)




In both cases you have a manner adverb, and those are known to be situated low in the vP.  You should not expect agreement of this sort with adverbs denoting time (‘tomorrow’, ‘yesterday’) or high adverbs such as ‘maybe’, ‘probably’ that are known to adjoin high in the clause. They will be outside the vP, hence external to it, and should not show agreement.

The overall generalizations about gender class agreement in Archi are as follows:

(xx) Agreement is between the probe and the goal in a structural (not lexical) case bearing gender class features 
(xxi) Agreement is registered on all the heads inside the vP
(xxii)  If the head is null (and If the licensing head is null the agreement exponent attaches to the overt material in that vP; it seems that a number of heads, denoted by little v’s are null, so the agreement is morphologically marked on the specifier of that head—this is how you get the appearance of agreement with the genitive or dative or ergative; in fact, it is agreement with the little v
Predictions:

(xxiii) Material external to vP will not register agreement (for instance, high adverbs or high PPs such as causal arguments) 

(xxiv) PPs may show variation in agreement depending on whether they adjoin inside the vP or are external to a vP (e.g., ‘Because of me/On the account of me, they left’ where the reason expression may be vP- external)
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� Recall that I, II, III, IV are genders and 1, 2, 3 are persons.


� There are several analyses of relative clauses available; more data are needed to tell them apart, and we could discuss that if necessary. It would be helpful to know which of the analyses applies to Archi for the completeness of the grammar you are creating; from the standpoint of agreement, only a few minor details would change however. 





� We do not know if in principle relative clauses in Archi can be separated from their head nouns (e.g., if the relative clause can be displaced to the left). If this is impossible, one could test examples like (13) to see if ɬːʷak-du-t duχriqˤa-k e‹b›q'en can be separated from the head noun ‘road’.





� In Tsez, the dative and the ergative have different binding properties, see Polinsky and Comrie 2003.


 


� In Hindi, the dative and the ergative have different scope properties, see Anand and Nevins 2006.





� The agreement data showing agreement inside the dative (as in (9) and (10) below) suggest that the structural analysis shown in (xv) is more likely. The reasoning goes as follows: we hypothesize that agreement is registered on all heads inside the vP; the dative shows agreement, therefore, it is licensed by a (null) head inside the vP. However, it is important to get more evidence in favour of this analysis. It is also necessary to understand if the dative subject and the dative indirect object are generated in the same position or in different position. 
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